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1. zz 4+ 2yz = 22

2. x(y+z2)+ry=2+9yz
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rz+ayz=xz(1+79) =xz

T |y | z| xzt+xyz | 2

1111 1 1

11110 0 0

1101 1 1

1101]0 0 0

011 0 0

0110 0 0

001 0 0

071010 0 0
2.

r(y+z2)+xy=2+ (y+2)+ Ty
=T+yz+ay
=z(1+y)+7yz
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zlylz|zly+z)+zy | T+yz
1111 0 0
11110 0 0
1101 0 0
11010 1 1
0|11 1 1
0]110 1 1
0]0]|1 1 1
0/01|0 1 1
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w = 2TYz + xYz + 1Y

#FE 3 MUTomMHEREICHY S 2w ek &, £, zomMHERX 2R LL &
W,



w=(zyz+7z)(z+2)
= TTYZ + TY2zZ +TT + T2
=zyz+0zy +0+ 22

=Yz + T2

(zyz+z) (x + 2)
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FEd R w=(r+79) 2+ (T+2)y+zyz ST 2EHHEEREZRLRI WV,
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w=(x+y) 2+ (T+2)y+2yz
=2+ Yz +ry +yz +2yz
=zz+ (y+9) 2+ Ty +2yz
=TZ+z+ 2y + Yz
=z+ 2y + Yz
x|y lz|| (z+9)z+@+2)y+2yz | z+ Ty + zyz
111 1 1
11110 0 0
1101 1 1
11010 1 1
o111 1 1
01110 1 1
01011 1 1
0101]0 0 0







